
Level 12 Test answers 

(Score out of 10: one point each except for i – l) 

a) 9 more than 556.  565 

b) 700 + 2,000 + 5 + 60 = 2,765 

c) 2 x 33 = 2  x  (30 + 3) 

            = 66 

d) 24 + 38 = (20 + 4) + (30 + 8) 

                   = 50 + 12 = 62 

e)    243 = 200 + 40 + 3 

+ 425 = 400 + 20 + 5 

                =600 + 60 + 8 = 668 

f) 154 + 8 = 162 

g) 8 - 3 = 5 

h) (4 x 1,000) + (3 x 100) + (8 x 10) + (5 x 1) = 4,385 

i) (½ of 18) + 21 = 30                 (Half point) 

j) 5 + 5 + 5 + 5 + 5 + 5 = 6X 5 = 30   (Half point) 

k) 28 ÷ 4 = 7                             (Half point) 

l) (15 ÷ 3) x 4 = 20                     (Half point) 
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